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Algebra 1 S2
Lesson: May 1st, 2020

Learning Target:
Students will solve a system of equations involving a linear
and quadratic function algebraically.



The graphs of the equations y = x4 - 5x + 6
and x +y =6 are drawn on the same set of
axes. At what point do the graphs intersect?

A) (24) ) 3.3
B) (5,1) D) (4,2)
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The graphs of the equations y =x2 - 5x + 6
and x +y =6 are drawn on the same set of
axes. At what point do the graphs mtersect?

A) (24) (3,3)
B) (.1 6 4.2




The graphs of the equations y = x4 + 4x - 1
and y + 3 = x are drawn on the same set of
axes. At which pomt do the graphs intersect?

&) (1,-2) ) (21
B) (1,4) D) (-2,-5)
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The graphs of the equations y = x2 + 4x - 1
and y + 3 = x are drawn on the same set of
axes. At which pomt do the graphs mtersect?

4) (1,-2) Q) (2,1)
B) (1.4) (-2,-5)
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In today’s lesson we will be solving a system of equations
with a linear and quadratic function algebraically.

Watch today’s Video to practice along with a few examples
before the independent practice.

Examples:

1) y=(x+2)?-6 2) y=x*-2x-3 3)y=-x*+2x+7
y=4x -2 y=-5 2x +7 =2


https://www.youtube.com/watch?v=KPIB911H7Ro

Practice #1
Solve the system by substitution.

y=x"+5x-2
y=3x-2



Practice #1 Answer
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Practice #2
Solve the system by substitution.

fy=—w2—3x+2

\y=x+6



Practice #2 Answer
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Practice #3
Solve the system by substitution.

y=-2x*—4x-1

y=2x+4



Practice #3 Answer
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Practice #4
Solve the system by substitution.

X+y=95
y+1=3x>+2x



Practice #4 Answer
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Practice #5
Solve the system by substitution.

(x> +y-8=0
x+y-2=0




Practice #5 Answer
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Practice #6
Solve the system by substitution.

S5x+y=2x>+6
y+4x=T7x-2



Practice #6 Answer
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Additional Practice:
Click on the links below to get additional practice and to check your
understanding!

Click here to get additional practice with hints and worked
out answers.

Click here for additional worked-out examples and
explanations.


https://www.ixl.com/math/algebra-1/systems-of-linear-and-quadratic-equations
https://www.mathsisfun.com/algebra/systems-linear-quadratic-equations.html

